ELECTRICAL CIRCUITS 1 - CLASS NO. 03 (21.10.2024)
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CURRENT SOURCES CONNECTED IN PARALLEL
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PROBLEM #1
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PROBLEM #2

B dulomobile  generglor with o infernal tesisiance of Re=0.9 develops an Open- Citeuit Voltege
ol Ee= 16V, The storage battery has an infenal vesistance of Ra= 0.4 and an open-Circuit Volia,
of Fg= 19.8V. Both Souices ate comected, in parallel fo a R=4) load , Oetemine the load
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PROBLEM #3

Mgke o ponet balone foc dhe citeurt shoun in Hhe Liquie (e, the pouer provided by
e bateries equals the sum of the pouer dissipated by the tesisfances).
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